7\ \%ﬁ*ﬁﬁ/i

DU SER AVSY S
KRR T2

i B R E T IR (B K g
[H R = B (EA
VAN S Ga AT Ebet
B e

\



Linear Algebra Conception

o Matrix Equation

o Matrix Inverse
Cramers Rules
Determinant

o Gaussian Elimination
o LU Decomposition

o Square Root Method
Normal Equation
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AX=B
IEARIZC - SRR X A

w O =
o b~ O

o W N

>> A=[1 0 2:;0 4 3:;3 6 0]

A =

1
o)
3

o) 2
4 3
6 o)

AT A /bR B RIH]



>> B=[9;1;0]

B =
9
1
0]
>> X=A\B
X =
3.5714
-1.7857
2.7143

>> inv(A)*B
ans =
3.5714
~1.7857
2.7143



SEALEEIAER]

o TIHIFEERA] 1 AX =B HyME—fRE x = AEB L,

| 4]

>> A=[1 0 2;0 4 3;3 6 0];
>> B=[9;1;0];
>> det([B,A(:,[2 3])])/det(A)
ans =
3.5714

>> det(JA(:,1),B,A(:,3)])/det(A)
ans =
-1.7857

>> det([A(:,[1 2]),B])/det(A)
ans =
2.7143



Hi

JlinsolvefBIH M 245

o HRMITEI AX =8

>> A=[4 1 2;1 2 5;2 5 1];

>> B=[4;3;1];
>> X=linsolve(A,B)

X =
0.7901

-0.2222
0.5309

>>

N b

o Nn B

= O1 N




=R EAFREREENIEL

o over determinate © J5AEFUHYE H RS ARMIEHVE H

o ' fkr ) JAKfEover determinatef[ERE » FToKEHY
i/ N TR - iRy X 25

| AX - B
Bl Ax — B Z#38 (norm) HYSE Byg/)s o




2x—4y:6 >> A=[2 -4;3 -8;6 7]

A =
3x—8y =3 2 _4
_ 3 -8
6x+7y=14 : °
>> B=[6;3;14]
B =
6
3
14
>> X=A\B
X =
2.0969

0.2250



o under determinate : J7FEZHYE H /NI ARREIVEH >
BEHRF A JEES 20 SH A%

v RIRZERRE > A LUKISFAT A AR R EE > R TT
RO 2 FE

v AN Z DI 2 A fE A (pseudo-inverse ) - RIASK
S0 B/ N U



ERPIPRER - SR MY T RE S
Sx+3y+3z—4u—-9v =40
3x+3y+4z+2u—-5v=230
Ix—06y+3z+3u+2v=24

>> A=[5 3 3 -4 -9;3 3 4 2 -5:7 -6 3 3 2]

A =
5 3 3 -4 -9
3 3 4 2 -5
7 -6 3 3 2
>> B=[40:30:24]
B =
40
30

24



FIFHZERRTA

fiE S AEPEE

>> s1=A\B
sl =

3.6250

0

0

1.6513

-3.1645

>> s2=pinv(A)*B
s2 =
2.9836
0.0273
2.1179
0.5061
-2.2967

11



s A EEES HE

o AWEETTRAR det(Al, - A) =0 fifs

O H AX=AX RKAGHFEAHY

Matlab £y eig pi&E ]+ E[E

H{EH

&5 [A] &

i

< 11.1.2 ORAFEHT EEE A RSB

HIFE

—_—-

=N

OB

ev=eig(mar)  ={ESEE mar (A

Lvect,avl=eig(mar)  SHEFEFE mar HEA [EELE A [H &

12



>> A=magic(3)
A =
1

N NO

8
3 5
4 9
>> e1g(A)
ans =
15.0000

4.8990
-4 .8990

>> [vect,dv]=eig(A)
vect =

dv

-0.5774
-0.5774
-0.5774

15.0000
o)
o)

-0.8131
0.4714
0.3416

o)
4 _.8990
o)

-0.3416
-0.4714
0.8131

-4.8990

13



F VKR
IR YRR

o n AR MZRIRAT PRI, |

~ 1
p(X) :anxn +an_lxn 1+---+a1x +a

2 TH
p(x) = 6x° +12x* +8x° —x+32

o RS R ST

p=[6 12 8 0 -1 32]




%1121 B2 RO R Y LR B

R

polyval(p,a) FEZTER p(x) X x=a E - a AT —E4 RS E

roots(p) ETEZIH p(x) AR

>> p=[1 4 0 -10 -10];
>> Fplot("x"4+4*x~3-10*x-10", [-4,2])

>> roots(p)
ans =
-3.3851
1.6769
-1.1459 + 0.6698i
-1.1459 - 0.66981




KEEIEGRIETTRE R

o WIEEKEEIELRMETFET » ol FI A fzero prEy :

%1122 SREEFRGIE TR R

® B Y

Tzero(fun,x)  Dlxo BtliafE - SKIETTFE fun=0 HYfiF

fze rO(ﬁ/ﬂ’l ’ [X() ,xl]) E [xo ,Xl] @Fﬁﬁmz}zﬁﬁﬁﬁ‘%ﬂfun:o E/‘jﬁﬁ

16



function y=funcll 1(x)
y=4*cos(X)-X;

>> fzero("funcll 1°,3)
ans =
1.2524

>> fzero("funcll 1",-4)
ans =
-3.5953

>> fzero("funcll 1",[-4,-3])
ans =
-3.5953

S

. do & B [N o ) = 2] @

17



O [FEFShumpsprE
humps pHETVEER E =

1 1

+ -6
(x—0.3)> +0.01 (x—0.9)°>+0.04

y(x) =

>> fplot("humps”,[-0.5,1.5]); hold on

100

a0r

18



>>
x1

>>
X2

>>

x1=Fzero("humps®,-0.5)

-0.1316
x2=fzero("humps®,1.5)

1.2995

plot([x1 x2],[0 O], "0");hold off

100

80 -

60 -

Wt

20+

19



RUT KRR BTE

o optimset {2 SR B R BE B R fRAE E

11.2.3 optimset PR L

&% R

opts=optimset(“pari”, "val," , "par;” , "valy" ,-+-) ARWIZE pary (IER val, » 28 par, )

BB val, » BIL—{EEETELERE > DIt
Matlab fy fzero ~ fminbnd £ fminsearch

FeEEH
2 8 R Y
Display  5¢7E off AR EIREGH » 50E iter QIR —(EIEHIEER - 5%E final

A BURET RIS GER

TolX

R

FunValCheck

fe At F AR PRI B E

OutputFcn

ARt E— B e e - A EREEE R AR > BEE
oL G BT — X

20



>> opts=optimset("Display”,"iter")

opts =

Display:
MaxFunEvals:
Maxlter:
TolFun:
TolX:
FunValCheck:
Outputkcn:

TolPCG:
TolRLPFun:
TolXInteger:
TypicalX:

"i1ter”
[1
[1
[1
[1
[1
[1

[
[
[
[l

21



>> fzero("humps*®,3,0pts)

Search for an interval around 3 containing a sign change:

Func-count a f(a) b T(b) Procedure
1 3 -5.63829 3 -5.63829 initial interval
3 2.91515 -5.61014 3.08485 -5.66348 search
5 2.88 -5.59749 3.12 -5.67314 search
7 2.83029 -5.57852 3.16971 -5.6861 search
9 2.76 -5.54928 3.24 -5.70314 search
11 2.66059 -5.50236 3.33941 -5.72494 search
13 2.52 -5.42219 3.48 -5.75188 search
15 2.32118 -5.27031 3.67882 -5.78365 search
17 2.04 -4.9243 3.96 -5.81906 search
19 1.64235 -3.75631 4_.35765 -5.85593 search
20 1.08 9.42923 4_.35765 -5.85593 search

22



Search for a zero iIn the interval [1.08, 4.3576]:

Func-count X (X)) Procedure

20 4.35765 -5.85593 initial

21 3.10194 -5.66823 interpolation
22 2.09097 -5.00353 bisection

23 1.58548 -3.43728 bisection

24 1.33274 -0.670982 bisection

25 1.28333 0.372862 interpolation
26 1.30098 -0.0313704 interpolation
27 1.29961 -0.00133688 interpolation
28 1.29955 2.54388e-007 interpolation
29 1.29955 -4.07603e-011 interpolation
30 1.29955 0 interpolation

Zero found i1n the i1nterval [1.08, 4.35765]
ans =
1.2995



UNIEENBN:

o fminbndpfEy © RISKEER B — SRR IR ME
o fminsearchipf &y RJK AR SR LBV ME

%1131 CKEREHIEYIME

f B s

fminbnd(fun, x1,x) e == BE SR R B fum AR/ IMEL

fminsearch(fim, [x.y, 1) $55EgIGBE Ry x,y, - » SRARS SBELR fun 1935 ME

24



LGN

H

N
'

<

>> fplot("humps®,[-0.5,1
>> fminbnd("humps®,0.5,0

ans

0.6370

1))
8)

>> [x,val]=fminbnd("humps®,0.5,0.8)

X =

val

0.6370

11.2528

100

80

B0+

40+

20+

25



25 SRR B YR MEDK

o Kl FHfminsearch>K f& prgsiix [ ME I -
o558 x WETEFRRK x(1) 55 TR y 0
TEFA x(2) > B WlE DA Ry ERE R DL RE T

function y=funcll 3(X)
y = X(LD/X(D)N2+x(2)"N2+1)

>> ezsurfc("x1/(xX1N2+x27"2+1) " ,36)

K04 242 +1)

26




>> fminsearch("funcll_3",[0,4])
ans =
-1.0000 -0.0000

>> [x,val]=fminsearch("funcll_3",[0,4])
X =

-1.0000 -0.0000
val =

-0.5000

>> fminsearch("x(1)/(x(1)"2+x(2)"2+1)",[0,4])
ans =
-1.0000 -0.0000

27



[ &R B¢ = B EE

B L] SR BBk B (EA
n P& A NEEE 774
HtE A E
it PR Y T (E A
seFls(Kriging)iA

\_/

28



Least Squares Fitting

o Finding the best-fitting curve to a given set of points

o Minimizing the sum of the squares of the offsets
("the residuals") of the points from the curve

-
-~
U
-
. -~
o o

vertical offsets perpendicular offsets 29



Mathematical References

o Linear regression: y=a+bx
Perpendicular offsets
Correlation coefficients

o Logarithmic regression: y=a+blInx
o Power-Law regression: y=A4x"
o Exponential regression: y=4e*
o Polynomial regression: y=q,+ax+..+a,x"
o Nonlinear regression:
Ex: Gaussion functions Y = Aexp(Bx)

30



4R

o Hh#R#EES (curve fitting )

IR B/ N5 7K A Fe o L e EA T R Y

o Matlab;E LAployfit ek Bk #1720 TH AT R S b i -

#1211 ZIFAHRSREEG E

e &R

polyfit(x,y,n) il AEEEAEER e AR A BAY R & x B y > HETT n P IR S

polyval (p,a) EHEZIEA p(x) it x=a HE

31



>>
>>
>>
>>

>>
>>

y=primes(50);
x=1:length(y);

plot(Xx,y,"0")
p2=polyfit(x,y,2)

0.0907 1.9517 -1.2484
f2=polyval (p2,x);
plot(x,y,"o",x,f2,"-")

50

32



:.‘-‘_‘115./ A
—HENFEE L

|
b

N

O IR ZEpr P —4EERHRAH{E > =] HinterplprEy -

1221 —4EREE

b 5 OHA
interpl(x,y,x;, "method™)  FTEIGEE > HF method 7] Fy
nearest: HiTEHEEE
linear: &MEfEETE (FHEZ(E)
spline: spline (ZEJP4&R) HH{EL
cubic:  =RZIAENIEEE

interpl(x,y,x;, “method" ,'extrap")

5] L AL MEAGTE

33



>> interpl([1l 5],[4 6],2, "nearest”)
ans =
4

>> interpl([1 5],[4 6].,2,"linear™)
ans =
4.5000

>> interpl([1l 5],[4 6].,5-1, linear~, “extrap”)
ans =
6.0500

34
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|
b

—

W HENTEEE

N

o interp2 i T FA AT 4R

%1222 THEREEE

B 3R

interp2(x,y,z,x;,y;, “method™) T _4EEE - HF method 7]
nearest:  ABATHGH{EA
linear: GMERREE (THER
spline: spline #{EE
cubic: =REAFFEEL

interp2(x,y,z,x;,y;, “method™ ,val)  EHEHALBIRRIE 2SN - RIGEFREOE Ry val

36



o TNHEIAYHIHZ DL peaks sRE AR TR Eu LA HEF T 4

N

B EA

>> [X,Y,z]=peaks(8);
>> zz=peaks(1l,1)
zZ =

2.4338

>> interp2(x,y,z,1,1,"linear"™)
ans =
2.7986

>> 1nterp2(x,y,z,[-0.5,0.2],[-0.4,1], "spline™)
ans =
3.3018 4.2221

37



S - I N

38



|
b

N

Z4Em{EA

O ZiErl{EAE S T =B =D ERYZAEEE - H
A9 NERATA

#1223 =44l FRYSSAERENE

BB s HH
interp3(x,y,z,w,X;,);,2, method™) Kf#Ex=x;, ~ y=y Bl z=z IGATHEEIERN w,

interp3(x,y,z,w,X;,)i,z, method™ ,val) fEEEE H&EEERF AIILL val HYEE BGEE

interpn(xl’-X:Z’.“’W’ Vis)Vos'"s 'methOd-) j\zﬁﬁxl :y]_ ’ x2 :yz » 777 H%‘ﬁﬁ‘*a%j‘@ﬁ/\j Wi

interpnQry, X, W, Yi,V2, ", " method™ ,val) FEERAERE HEEEEE > ALL val B{E & B EE

39



O = HfEfREANYEE R A A Fslice i BUKEE

7% 1224 =4EfY slice &&E1545

B ER B

slice(x,y,z,w,8,,5,,5) 4GS x §liit s, 0 5y §liit s, > DA z Y 5. 2P

O FHEELL wiry2)=yx?+y2+22 Bl
<5334 1 Finperp38iislicerf sy -
>> w=sqrt(x1.M2+x2.7"2+x3.7"2);

>> x=-2:0.2:2; y=-2:0.2:2; z=-2:0.2:2;
>> [x1,x2,x3]=meshgrid(x,y,z);

40



colorbar

>> slice(x1,x2,x3,w,[-1.2,1.5],0,0)

0.7490
0.7490

>> interp3(x1,x2,x3,w,0.35,0.17,0.64,"spline")

>> sqrt(0.35°2+0.17/2+0.64"2)
ans

ans

41



B T E R TR A
HERIB RE P T

O B ERHREEUT S B ZE A _ERS > m] ISR AR =0
T EAETR
O Ui EFE{E A H REa FPW%ET?: A REET R M

o MatlablLgriddatarf T — 4TS BE N+

#1231 4R UERERE{E A

0B

griddata(x,y,z,x;,y;, “method™)  #EANELMiBEANTE - E method T Ky
nearest:  ARHTELFR(EDE
linear: SRS (THER)
cubic: =REIERSEEEL

42



O INAE - HEHY B R AR EE ]

>> x=10*rand(1,100)-5; 5 5
>> y=10*rand(l,100)-5; z(x, y) =x/(x"+y" +1)
>> z=X_./(X."N2+y . "N2+1);
>> griddata(x,y,z,1,1)
ans =
0.2759

/ L]
/ L]

BB S 1R HY

i
N

43



b

= SRR RE YT

o WIRHUMAHYE RERE =4 > Alln] LUK Figriddata3pr
SR TN

F2 1232 ZHERUGNERIESEEVE

B 3B

griddata3(x,y,z,w,X;,Vi,zi, ~method™)  Z4ERVEIHAEENE - E method B By
nearest:  #AATEEIEEVE
linear: T HEARMERREVE (THEX

44



O NHE =MERUR FUERERI NI EA

>> x=6*rand(1,100)-3;
>> y=6*rand(1,100)-3;
>> z=6*rand(1,100)-3;
>> w=sgrt(xX.N2+y."2+z."2);

w(x, y,z) = \/x2 +y2 + 72

>> sQre(2/2+27°2+272)
ans =
3.4641

>> griddata3(x,y,z,w,2,2,2)
ans =
3.6999

B N S O = Now
| ) L i rl 2 s

LI@TT%TT@%W TZHN > 2/
7215/ NjR0.2 45



ZERE R IT Z e
A4 (Kriging technique)

o TiFlE N S 41 A (Geostatistics technique)

o ¥l LRI EsREE £ 5D, G. Krigezskants

o MRBEERMEZR T o MeVaRaTRME > HEHISRTE T
B —HMERl - DA AV SN B BOERE B RS

{5 ) 42 B[] (Variogram) 2 2 4 F2[E] (Semi-variogram)
Ry B P E

O HEAEE Ay R S AE B8 B - UR B i S B B e
e > I B AT 22 [ FE e -

o AN CRIE SRR A S REAAEIE -
Al E AR R E R E R E A —(E R A

46



B2 EAEISE PR AR NHREAEA

o RgETEAEE(simple Kriging)
MNaE T Ml (unbiased estimation)
o HiE Al gE(ordinary Kriging)
e EEEAEH (constant mean){EEzHy
C AMRASFREE
o w7 A4 A(universal Kriging)
& T IEE B R EEwE , (local
trend) sy | AMw AR
o HA » 4l » & AEE - BEE T AEA KT
A A ek

47



SRS

o &5 (structural analysis)

Eil

e
s

AR
o fEARMENME{L{LEET(Best Linear Unbiased
Estimation-BLUE)

B3 HE B A O
BIE MR/ MEE TR 2SS

FIF A

O PRI

L .o\ "

o 2

/Q*ZEEI

’QZEEI

&) Bl -

CH.: Mat

e R R AT BB (covariance)fEE
1“ El/j Eﬁ/

= PR EL

AL
& SN T TR H

ttm i

B G H A R EUE -

i/\

ab,

Python, RE AL

48



1t
ANy

P
z

RIE

ﬂ’c\»
(14
a8

e Tl
H & (Variogram) iy
i} =4 |

Tl EXiN—y SR )i
o Nugget: mEEERyfE

o Sill: EEFEEE

O Range 5 2L B

O ZY(dij) =
E[(Z(u;) = Z(uy))~]

L4

il

=

Variogram

o u(X, y) Bz & R
o Z(u) Ry Z=fEiFEIR S E

o di; Ry ke JREEEEE

o v(di;) -2 B A

R R LIS

B Experimental variogram data

= Variogram mod d

(correlated) (uncorrelated)

Distance 49



2 R

o fATCER AR

RSB A 2R e IR R

PRy R CHE EE L

y(d,J)J% =z > QAT $etEKriginge

o FLERHZ\
Spherical

Exponential
Power
Gaussian

{TEEHES

o SR B X

Iiﬁ&i
15 A X

B33 FAERFEEAEERLR
50



Kriging Example

% define the spatial geometry with random autocorrelation pts

[X,Y] = meshgrid(0:500);

Z = randn(size(X)); % Y, Y, Z all are a 500x500 matrix
Z = imfilter(Z,fspecial('gaussian’,[40 40],8));

% sample the field: create 500 pts randomly in X, y axes and
% interpolated into z axis

n = 500;

% X, y are 500x1 vectors, 0<=x[i], y[i]<=500

X = rand(n,1)*500;

y = rand(n,1)*500;

% use linear interpolation (‘linear’, 'cubic’,'nearest’,'spline")
z = interp2(X,Y,Z,X,Y);

% plot the random field by projecting 3D surf to 2D plan
% at the upper-left corner of the figure

subplot(2,2,1)

imagesc(X(1,:),Y(:,1),2); axis image; axis xy

hold on

plot(x,y,".k")

title('random field with sampling locations')




% calculate the sample variogram by variogram.m
v = variogram([x y],z, 'plotit',false,'maxdist’,100);
% and fit a spherical variogram by variogramfit.m

% plot at the upper-right corner of the figure
subplot(2,2,2)

[dum,dum,dum,vstruct] =
variogramfit(v.distance,v.val,[],[],[],'model','stable");
title('variogram')

% now use the sampled locations in a Kriging: (X,y,z) is
% observation, (X,Y) is prediction

% the processing bar will show as computing the Kriging
[Zhat,Zvar] = kriging(vstruct,Xx,y,z,X,Y);

% plot the prediction at the lower-left corner of the figure
subplot(2,2,3)

imagesc(X(1,:),Y(:,1),Zhat); axis image; axis xy
title('kriging predictions')

% plot the contour of prediction data, the contour is plotted at
% the lower-right corner

subplot(2,2,4)

contour(X,Y,Zvar); axis image

title('kriging variance')

52




r Figure 1
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T HY R R
fob B A o /Y

l= =z vl
L

ll'-”

o FETHEEUET > ATHIFHgradienterEy -

1311  EREEHEEpNEL

st HA

dy=gradient(vect,dx)

SR vect (5 — (BT EFE B B

[dAx,dAy]=gradient(4,dx,dy)

sTEJEM 4 EE—ETRERNFTELEZ x 8y
palfinLvelics

[dAx,dAy,dAz]=gradient(V,dx,dy,dz)

TR =4S Ve TR AT EEZ x
y B z T RIAREIE
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>> y=sqrt(x)
y:
O 1.4142 2.0000 2.4495 2.8284

>> gradient(y,Xx)
ans =
0.7071 0.5000 0.2588 0.2071 0.1895
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>

o HEPhE 4 - HigradientE o R {5 (8 - 77 A1
7= x By TIIA YRR -

>> [xx,yy]=meshgrid(-2:0.2:2,-2:0.2:2);
>> zz=xX.*exXp(-xx."2-(yy+0.1*xx) ."2);
>> contour(xx,yy,zz)

>> [px,py]=gradient(zz,0.2,0.2);

>> hold on;quiver(xXx,vyy,px,py):;

.....




Z=ITHYER

(i

O JUERHLTER Z YA E A A Hdifff5 <

#1312 =y EE R

B B

diff(x) HERAZExIVED

diff(mat,n)  JSEFEE mat (N n (E4ERE BT HER

>>
>>
>>
>>

Et

éfﬁTL)\ﬁH%{é%%ﬁf?Hﬂ?m@T 3

x=0:0.2:6;

y=x.*sin(x);
dy=diff(y)./diff(x);
plot(x,y,x(1:end-1),dy);
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ETERE
E—SB ERER

o Matlabfz{t " trapzEdquad e BRE T B EUERR T -

%1321 E-SRHVERDER R

® BB

trapz(y) [ER 1 DIBEASTE —dRE y I9ESE -

trapz(x,y) Hy=/f() RGN - DB A ERE D

quad(“func® ,a,b,tol)  FIFIEEMEEAERE AR func 857
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o NHIYEIHEF] Hirapzak st EE8ERE S

>> x=linspace(0,pi,50);
>> y=sin(x);

T
>> trapz(x,y) J- sin(x) dx

_ 0
ans =
1.9993




O NHEMN AR A S B ERHRE R T

>> F=Q(X) sin(2*Xx).*exp(-x);
>> x=linspace(0,2*pi,100);
>> y=F(x)+0.05*rand(1,100);
>> plot(x,y,"0")

>> trapz(X,Y) 05

ans= osf ;1' %
0.5763 e

o]
03f
02}

01k

01k

02
0




O WM T B e —(EEER e > RIlAIH] Fquad
SEE S oa

>> f=0(x) abs(x."3-x-1);
>> fplot(f,[-2,2])
>> quad(f,-2,2)
ans =
6.8645
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ZERIT

o YNFEHETHER Sy - A FlHdblquadEritriplequad i -

* 1322 ZEHHERTER R

SO

N X2 )2
dblquad (" func® ,x1,X2,V1,V2,t0l) AT E I j func dy dx
nYn
N XtV 22
triplequad (" func® ,Xx1,X2,V1+V2+21+224t0l) sTE I I func dz dy dx
X YN vz
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o MHERETEEE—EREER (Barie) aydlT

>> dblquad("x*y."~2",0,2,0,3)
ans =
18.0000

>> triplequad("x+y.*z",0,6,0,2,1,4)
ans =
198
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o WIREREAEIEEALT A » B H &I E R &
K IEFEETRIEE] -

—Téﬁ@ﬁﬁ : 0x<7r, 0K y<x

By O L,
joﬁ jox cos(x+2y) dy dx
AR RS 70 PREEU AT JE FR

cos(X+2*y) . *(x>=0 & x<=p1 & y>=0 & y<=X)
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5 Fe o VR

il

o MHE X
2 4—2x8 o d
Jo] T B-x-ydyar

>> dblquad(” (8-x-y) .*(y<=4-2*x)",0,2,0,4)

ans =
24 .0000

1el
jo.[ xZ\/1+ y4 dy dx
X

>> dblquad("x."2.*sqrt(1+y.") . *(y-x>=0)",0,1,0,1)
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Wy TR R E R
W TR E Y A 2

o Matlabseft 177 TR e
O FirE - asERAEMEE - R EEE A

%1331 oy R ORI

BB 3R OBH
L¢,y1=solver(odefun, Lto, ] ,ini) &L 6 5] ¢, FMEEy ini > DL solver 73 5fR 85y
FFE odefun

[t 1y] :SOlver(Odefun ] [tO ] tl ) t2 P tf] ] lnl) ]EU: ’ /fE[IEE[;-\@Z'j:H:IIEF%fE_’.H%FEﬁ to ] tl ’ tz P l}ﬂ"j{ﬁ

b > solverft720de45 ~ 0de23 - odel13 ~ odel5s ~ 0de23s ~ ode23t
51 ode23th T 7 {E el B IEE —(# -
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KT T2

o —IEMy TR IR »(O) =), 1)
NEDE KPS T TR Y EE ]

function dy=funcl3 1(t,y)
dy=sin(t)-y*cos(t); sl

23]
[=]
T

>> ode45("funcl3 17,[0,40],1) -

g " | L L i L
0 ] 0 18 20 25 30 3B 40
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>> [t,y]=ode45("funcl3_1",[0,40],1);
>> plot(t,y)

s L L L
20 2 30 3k 40

o [EHVEIHEN FIE A B E F T TR

>> dy=@(t,y) cos(t)+y*cos(t/3);
>> [t,y]=ode45(dy,[0,40],0);
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o n PR TR AT
YW@ =oY@, @), 0, 0

O 1EEF n P& HERE » VAN E K n
{[E— P s 2=

o&%ZﬁjﬁEﬁﬁﬁnM%%%%’%%%a
Pl &R EEE
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{5140

y"=7.5c0st-0.05y"— »°

Al ACES R T IR RIS - B —FEAY R T2

=y
vy =7.5c08¢-0.05y, — 3}
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function dy=funcl3 2(t,y)

dy=Ly(2);
7.5*cos(1)-0.05*y(2)-y(1)"3];

>> ode45("funcl3_2",[0,10],[3.4]) %y(0)=3, y’(0)=4

M=)
vy =7.5c08¢-0.05y, — 3
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>> [t,y]=o0de45(*funcl3 2*,[0,10],[3,4]);
>> plot(t,y(:,1));legend("y1(t)")

-4
0 1 2 3 4 &5 6 7 & 9 10

>> plot(y(:,1),y(:,2))
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I[P 2T S A
o Wt (stiff) J7f2at « TRt (LRI

o LA oded5 [P R > &N Ry eE 20 RAEIR V4R N
BRI AR SE R E TR -

o [t JTAEE AT LA FH ode15s 5 0de23s 55 bR R -
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o Wi HEE4H
{ J’l' = )2
Yy == — U Vs

& EBSRAHIRFE (P40 1 =150) > R[Sy stiff 2
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p =10 BV HREZEC (RN £ )

>> dy=0(t,y) [y(2);:-y(1)-10*y(1)"2*y(2)]1;
>> ode45(dy,[0,100],[1-3,-0.1]);
>> odel5s(dy,[0,100],[1.3,-0.1]);

1 T T T T T T T T T 1

0.5 L 0.5
06 . 05}
i o)
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041G
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o2} b B
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02F
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04

0 0 20 30 40 50 80 70 80 90 100

0 0 20 30 40 50 &0 70 80 90 100

> odel5sifiEE 2T fi0ded5 K118 FET2 o LRI IEMITER T TTRE4H
ME - BEFodedST AT AT TREE
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1 =150 R 5REEC CHITE £ )

>> dy=0(t,y) [y(2);-y(1)-150*y(1)*2*y(2)];
>> ode45(dy,[0,100],[0.8,-0.1]);
>> odel5s(dy,[0,100],[0.8,-0.1]);
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3% Hu=1500F > odel5sEhjEoded 5B FEFZS o FH ML A A1

ODE HYfi# s & KIEHY 2 R KRR -
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2 AT EeE M e

o odesetn] A —{EFFIRA 45T

o

e ODEf# e ¢ 1] LA

XS (ESEKE

7 133.2 ODE fif#asHyBEIH K EY

B Y

opts=odeset("par\”,“valy","par;","valy" ,)  ARIZSEL pary (IEFy valy » 28 par, 1Y

{E Ry valy » FEIL—{EBEIHLETE

2% 13.3.3 odeset & &8

S W B
RelTol jgsputsessa i - FikiE 5107

AbsTol

BT TAE - TERE R 1070

Refine

e Refine Fy n BT LLFIAHERY )T NE A n REHCE AR R

OutputFcn

WA S 8 AIERFEESE 1% - Matlab & 5 BRI — 8
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>>
>>
>>
>>

dy=0(t,y) Ly(2); 7.5*cos(t)-0.05*y(2)-y(1)"3];
opts=odeset("RelTol",10™-4);
[t,y]=0de45(dy,[0,20],[3,4-2],0pts);

plot(y(:,1),y(:,2),"-",y(:,1),y(:,2),"r.")
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